X | Estimate Products Name:

B
Choose the best answer
When Avery cuts a pie, she cuts it
into 10 pieces. She then cuts each of
those pieces into 9 pieces. How
many total pieces does she have?
Choose the best estimate.
100 200
B

Choose the best answer

In some countries it is common for
each sibling to have 19 children. If
someone had 10 aunts/uncles, how
many cousins in total would you
estimate them having?

200 300

Choose the best answer

Spider plants create 18 spawns every
year. Brianna has had her spider
plant for 12 years. How many
spawns has the spider plant made?
Choose the best estimate.

300 200
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M

Choose the best answer

When Jackson cuts a pie, he cuts it
into 16 pieces. He then cuts each of
those pieces into 20 pieces. How
many total pieces does he have?
Choose the best estimate.

200 400

Choose the best answer

In some countries it is common for
each sibling to have 10 children. If
someone had 7 aunts/uncles, how
many cousins in total would you
estimate them having?

100 200

[+
Choose the best answer

Dahlia travels a lot and has friends in
many different countries. She wants to
estimate how many friends she has in
total. Dahlia supposes that she has 11

friends in 8 different countries. Which is
the best estimate of her total friends?

200 100
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]
Choose the best answer
In some countries it is common for
each sibling to have 18 children. If
someone had 6 aunts/uncles, how
many cousins in total would you
estimate them having?
200 100
B
Choose the best answer
Nick is baking pies. He puts 7
apples into each pie, and plans
on making 8 pies. How many
apples does Nick need? Choose
the best estimate.
200 100
B

Choose the best answer

Brianna is baking pies. She puts
10 apples into each pie, and
plans on making 9 pies. How

many apples does Brianna need?
Choose the best estimate.

200 100
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#10

Choose the best answer

Rapunzel's hair grows 19 inches every
year. Sheis curious how long her hair will
be in 7 years so that she can donate it to
cancer. How long will her hair be? Choose
the best estimate.

200 100

#11

Choose the best answer

Brianna is baking pies. She puts
10 apples into each pie, and
plans on making 9 pies. How

many apples does Brianna need?
Choose the best estimate.

200 100

#12

Choose the best answer

Spider plants create 10 spawns every
year. Kaylee has had her spider plant
for 19 years. How many spawns has
the spider plant made? Choose the
best estimate.

400 200
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X | Estimate Products Answer Key
Question Answer
#1 choice 1
#2 choice 1
#3 choice 2
#4 choice 2
#5 choice 1
#6 choice 2
#7 choice 1
#8 choice 2
#9 choice 2
#10 choice 1
#11 choice 2
#12 choice 2
0?‘@ MO‘I’h Gomes Get more worksheets at http://www.mathgames.com/worksheets CC.4.77

TeachMe, Inc. ©2024 All rights reserved.

Play online at http://www.mathgames.com/skill/4.77



